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��� 1  ���  2
�	
��
� �	
����  2 ��ก  y = 2x2 − 8

x2 + 1

����	  y = 2x2 + 2− 10

x2 + 1

y = 2(x2 + 1)
x2 + 1

− 10

x2 + 1

y = 2 − 10

x2 + 1

y  ����
����������������  ��
�����������2 − 10

x2 + 1

���������������  �	����
�����������  ������� ���10

x2 + 1

=  1, 2, 5, 10  (������ก� '(���
� �ก)��  10)x2 + 1

= 0, 1, 4, 9x2

x  =    ∴0, ±1, ±2, ±3 Dr = {−3,−2, −1, 0, 1, 2, 3}

./�����	���  x = 0 → y = 2 − 10 = − 8

x = ± 1 → y = 2 − 5 = − 3

x = ± 2 → y = 2 − 2 = 0

x = ± 3 → y = 2 − 1 = 1

∴ ./�  Rr = {−8, −3, 0, 1} Dr − Rr = {−2, −1, 2, 3}

��� 3  ���  1
�	
��
� �0���1�  ก.

��ก3�'�4  ����	ก��5  r  ./�  ����7�  3��ก��5  ��r−1 r−1

8�����ก� ก��5  r  3���(�8	����  
y  =  x  ��
�.ก�8�����

�����9� = ./�  r−1 {(x, y) / x ∈ [0, 1] x = y2}

= ./�  {(x, y) / x ∈ [0, 1] y = ± x }

= ./�  {(x, y) / x ∈ [0, 1] y = ± x } ∗ ∗

∴ ก.  :7ก
** �����  ����	  x ∈ [0, 1] x = x

-1 1

r r -1
y = x

1



�0���1�  ). ��กก��5  � ���ก��5  r  ./�  ���ก��  2  �=�r−1

���  (0, 0)  ./�  (1, 1)  ��0�  �����9�  ).  :7ก
��� 6  ���  1

�	
��
� ��ก =g−1(x)




x2 , x ≥ 0

−x2 , x < 0

�� g(2)    2  =  



x2 , x ≥ 0

−x2 , x < 0





∴   ∴2 = x2 → x = 2 ,− 2 g(2) = 2

��    =  gggg(−−−−8888) −8




x2 , x ≥ 0

−x2 , x < 0

= ∴−8 −x2 → x2 = 8 → x = 2 2 ,−2 2 g(−8) = − 2 2

�����9�  f−1(g(2) + g(−8)) = f−1( 2 + (−2 2 )) = f−1(− 2 ) = 1− 2

3
∗ ∗

** ��  f−1(− 2 )

�	
����  1  ��ก   =  �	
����  2  ��ก   =  f(x) 3x − 1 f(x) 3x − 1

x l y  x  =    =  3y − 1 − 2 3x − 1

y  =  x  =  x+ 1
3

1− 2

3

=  ∴  =  f−1(x) x+ 1
3

f−1(− 2 ) 1− 2

3

∴ =  f−1(− 2 ) − 2 + 1
3

= 1− 2

3

��� 9  ���  3
�	
��
� ��ก =  (f−1og)(x) −6x

x− 1

=f−1(g(x)) −6x
x− 1

g(x) = f
−6x
x− 1




g(a) = f
−6a
a− 1




2 =
−6a
a−1 + 3

−6a
a−1 + 6

2 =
−6a+3(a−1)

a−1
−6a+6(a−1)

a−1

2 = −6a+ 3a−3
−6a+ 6a− 6

2 = ∴ a  =  3  ./�  −3a− 3
−6 a ∈ [3, 5)
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��� 11  ���  4
�	
��
� �0���1�  ก.   =  f(x + 5) x3 − x2 + 2x

���  x  ����                  −−−−5555

f(0)  =  (−5)3 − (−5)2 + 2(−5)

∴ f(0)  =  −125 − 25 − 10 = − 160

./���ก   = g−1(2x − 1) x + 4

 =  2x − 1 g(x + 4)

 =  g(x + 4) 2x − 1

���  x  ����                   −−−−4444

∴ g(0)  =  2(−4) − 1 = − 9

(f − g)(0) = f(0) − g(0) = − 160 − (−9) = − 151

�����9�    ก.  B0�(f − g)(0) </ − 169

�0���1�  ).  =  (gof)(x) + 5 0 , x ∈ I

 =  (gof)(x) −5

 =  g(f(x)) −5

  =f(x) g−1(−5) ∗

 =  2f(x)

x  =  f−1(2) ∗ ∗

x  =  6  
  ∴ ).B0�6 ∈ {x ∈ I / (gof)(x) + 5 = 0}

* ��ก    =   ∴ g−1(
−2
↑
2x −1)

−2
↑
x + 4 g−1(−5) = 2

** ��ก  =  f(x + 5) x3 − x2 + 2x

 =  x + 5 f−1(x3 − x2 + 2x)

= f−1(x3 − x2 + 2x) x + 5

��� x ����  1    
=  f−1(13 − 12 + 2 ⋅ 1) 1 + 5

                    = 6f−1(2)
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��� 14  ���  2
�	
��
� �	�� !�  Df

y = log (x + 1) + log (x + 2) − log(4 − x2)

  ./�     ./�  x + 1 > 0 x + 2 > 0 4 − x2 > 0

        x > − 1 ↓∩ x > − 2 ↓∩ x2 − 4 < 0

(x − 2)(x + 2) < 0

�����9�  Df = (−1, 2)

�	�� !�  Rg  
��กก��5)��  g  � ���
Rg = [0.5,∞)

�����9�  D���� �����
�8� �D�)��  [0.5, 2.5)Df ∩Rg = [0.5, 2)

+ +_

-2 2

�����������������������
�����������������������
�����������������������

-2 2-1

0.5 (1, 1)

x = 1

x

y
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��� 15  ���� 15  ���  4
�	
��
� =  f−1(x) goh(x)

= g(h(x))

= g

3− x
x+ 1




∴ =  f(x)
−1 3− x

x+ 1 − 2 (1)

��ก  �����9�����  .'�Rf = Df −1 Df−1

�	�� !�    ��ก  (1)DDDDffff−−−−1111

3− x
x+ 1 − 2 ≥ 0

3− x− 2(x+ 1)
x+ 1 ≥ 0

(−3x+ 1)
(x+ 1) ≥ 0

(3x− 1)
(x+ 1) ≤ 0

�����9�  D�����
�8� �D�)��  Rf = Df−1 = (−1, 1
3
] (−1, 2)

��� 17  ���  d
�	
��
� ��ก  f(x) =  g(x)h(x)

=(x5 − 1)(x3 + 1) (x2 − 1)(x2 − x + 1) ⋅ h(x)

=(x − 1)(x4 + x3 + x2 + x + 1)(x3 + 1) (x − 1)(x + 1)(x2 − x + 1) ⋅ h(x)

 = (x − 1)(x4 + x3 + x2 + x + 1)(x3 + 1) (x − 1) ⋅ (x3 + 1) ⋅ h(x)

= 0(x − 1)(x3 + 1)(x4 + x3 + x2 + x + 1) − (x − 1)(x3 + 1) ⋅ h(x)

=  0(x − 1)(x3 + 1)[(x4 + x3 + x2 + x + 1) − h(x)]

� ��� ����  ����  x − 1 = 0 x3 + 1 = 0 (x4 + x3 + x2 + x + 1) − h(x) = 0

h(x) = x4 + x3 + x2 + x + 1

∴ h(x) = x4 + x3 + x2 + x + 1

h(1) = (1)4 + (1)3 + (1)2 + 1 + 1 = 5

+ +_

-1 1
3
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��� 19  ���  763
�	
��
� ��ก3�'�4 (fog)(x) + 2(fog)(1 − x) = 6x2 − 10x + 17 (1)

2(fog)(x) + (fog)(1 − x) = 6x2 − 2x + 13 (2)

2 × (2) , 4(fog)(x) + 2(fog)(1 − x) = 12x2 − 4x + 26 (3)

=(3) − (1) , 3(fog)(x) 6x2 + 6x + 9

=  (fog)(x) 2x2 + 2x + 3

 =  f(g(x)) 2x2 + 2x + 3

 =  f(x2 + x + 3) 2x2 + 2x + 6 − 3

∴  =  f(x2 + x + 3) 2(x2 + x + 3) − 3

.'�  �	��  x  ����	x2 + x + 3

f(x)  =  2x − 3

./�  f(383)  =  2(383) − 3 = 763

��� 20  ���  66
�	
��
� =    ��  f(i)f(2 − 3x) 4 − x

 =  i2 − 3x

=  3x2 − i

x =  2− i
3

∴  =  f(i) 4 − 

2− i
3




=  12− (2− i)
3

f(i)  = 10+ i
3

 =  12

i= 1
Σ f(i) =

12

i= 1
Σ 


10+ i
3




1

3

12

i= 1
Σ (10 + i)

= 1

3



12

i= 1
Σ 10 +

12

i= 1
Σ i




= 1

3

12 ⋅ 10 + 12

2
(12 + 1)



= 66
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��� 21  ���  1
�	
��
� ��ก  =   ��  f

x

x− 1



1
x f(sec2θ)

=  x

x− 1 sec2θ

x  =  sec2θ ⋅ x − sec2θ

 =  sec2θ sec2θ ⋅ x − x

 =  sec2θ (sec2θ − 1) ⋅ x

x  =  sec2θ
sec2θ − 1

∴  =  f(sec2θ) 1

sec2θ
sec2θ −1

=  sec2θ − 1
sec2θ

=  sec2θ
sec2θ

− 1

sec2θ

=  1 − cos2θ

=  sin2θ

��� 22  ���  a
�	
��
� ��ก  P(x2 + 1) = x4 + 5x2 + 3

��	��� P(x2 + 1) = (x2)2 + 5x2 + 3

.'�  �	��  x2 (x2 − 2)

=  P((x2 − 2) + 1) (x2 − 2)2 + 5(x2 − 2) + 3

=  P(x2 − 1) (x4 − 4x2 + 4) + 5x2 − 10 + 3

=  x4 + x2 − 3

��� 23  ���  1
�	
��
� ��ก   =  ��  f(x)f(3x − 5) 18x2 − 57x + 48 (1)

=  A3x − 5

x  = A+ 5
3

(2)

.'�  (2)  M�  (1)
f(A) = 18


A+ 5
3



2

− 57

A+ 5
3


 + 48

.'�  A  �	��  x
∴ f(x) = 18


x+ 5
3



2

− 57

x+ 5
3


 + 48

7



= 2(x + 5)2 − 19(x + 5) + 48

= 2(x2 + 10x + 25) − 19x − 95 + 48

= 2x2 + x + 3

 =  (fof)(−1) − f2(1) f(f(−1)) − f(1) ⋅ f(1)

= f(4) − 6 ⋅ 6

= 39 − 36 = 3

��� 24  ���  d
�	
��
� ��ก  f(x) + f

1

1− x

 = x

.'� x = 2 , f(2) + f(−1) = 2 (1)

.'� x = − 1 , f(−1) + f
1

2

 = − 1 (2)

.'� x = 1

2
, f

1

2

 + f(2) = 1

2
(3)

(1) + (3) − 2 , 2f(2) + f(−1) + f
1

2

 − f(−1) − f

1

2

 = 2 + 1

2
− (−1)

∴2f(2) = 7

2
f(2) = 7

4

��� 25  ���  1
�	
��
� ��ก  = f(x) = ax + b → f(f(x)) f(ax + b)

= a(ax + b) + b

= a2x + ab + b

=→ f(f(f(x))) a(a2x + ab + b) + b

= a3x + a2b + ab + b

=→ f(f(f(f(x)))) a(a3x + a2b + ab + b) + b

= a4x + a3b + a2b + ab + b

��ก3�'�4  f(f(f(f(x)))) = 16x + 45

.8�����  ./�  a4 = 16 a3b + a2b + ab + b = 45

��ก  (ก�����  f  ��
�5N�ก4O��/�  �����9�  a < 0)a4 = 16 → a = 2,−2

.'�   M�  a = − 2 a3b + a2b + ab + b = 45

−8b + 4b − 2b + b = 45

  ∴−5b = 45 b = − 9

./�  a + b = (−2) + (−9) = − 11

8



��� 26  ���  3
�	
��
� ��ก   ./�  f(x) = ax + b g(x) = bx + a

=  28f(g(50)) − g(f(50))

 =  28f(50b + a) − g(50a + b)

 =  28[a(50b + a) + b] − [b(50a + b) + a]

  =  28a2 + b − b2 − a

 =  28(a2 − b2) − (a − b)

  =  28(a − b)(a + b) − (a − b)

=  28(a + b − 1)(a − b)

�����  ��� ���  ./�'��M�	  �	��3��  a, b ∈ I+ a + b − 1 ∈ I+ a − b ∈ I+ a + b − 1 > a − b

�8��  ����ก0���	  3  ก�1(���������	��/����(9  ./��(��(��  2  ก�1(���  (15, 14)  ./�  (6, 2)
�'����9�'(�8���/	��ก� �������)  a, b ∈ I+

    a  ba + b − 1 a − b

28  1  15  14
14  2    17

2

13

2

7  4  6  2
  
��� 27  ���  3
�	
��
� ��ก3�'�4  25x4 − 10x2 + 16y2 − 8y = − 2

[(5x2)2 − 2(5x2)(1) ] + [(4y)2 − 2(4y)(1) ] = − 2

[(5x2)2 − 2(5x2)(1) + (1)2] + [(4y)2 − 2(4y)(1) + (1)2] = − 2 + 1 + 1

[5x2 − 1]2 + [4y − 1]2 = 0

./�  5x2 − 1 = 0 4y = 1

  x = ± 1

5
y = 1

4

∴ r = 




− 1

5
,
1

4


 ,



1

5
,
1

4








� ���  r  ��
�5N�ก4O��  (��	����D�9�)  ./�  �����Dr ≠ Rr

�����9�  ก.  B0�  ).  :7กDr = 

− 1

5
,
1

5



 , Rr = 1

4
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��� 28  ���  30
�	
��
� ��ก  x f(x) + f(1 − x) = 2x − x2 (1)

.'�  x  �	��  1 − x

(1 − x)f(1 − x) + f(1 − (1 − x)) = 2(1 − x) − (1 − x)2

f(x) + (1 − x) ⋅ f(1 − x) = 2(1 − x) − (1 − x)2 (2)

���  (2)  �71  1
(1− x)

1
(1− x)f(x) + f(1 − x) = 2 − (1 − x) (3)

=  (1) − (3) , 
x − 1

(1− x)

 f(x) x − x2 − 1

=  

x− x2 − 1
1− x


 f(x) x − x2 − 1

f(x) =  1 − x

=54

x= 25
Σ (x + f(x))

54

x= 25
Σ (x + 1 − x)

=  54

x= 25
Σ (1) = (54 − 25 + 1)(1) = 30

��� 29  ���  840
�	
��
� f(x + y) = f(x) + f(y) + 4xy , f(1) = 4

  =  ...f(2) = f(1 + 1) f(1) + f(1) + 4 ⋅ 1 ⋅ 1

=  4 + 4 + 4 = 12

  =  ...f(4) = f(2 + 2) f(2) + f(2) + 4 ⋅ 2 ⋅ 2

= 12 + 12 + 16 = 40

  =  ...f(8) = f(4 + 4) f(4) + f(4) + 4 ⋅ 4 ⋅ 4

=  40 + 40 + 64 = 144

  =  ...f(16) = f(8 + 8) f(8) + f(8) + 4 ⋅ 8 ⋅ 8

=  144 + 144 + 256 = 544

=  ...f(20) = f(16 + 4) f(16) + f(4) + 4 ⋅ 16 ⋅ 4

=  544 + 40 + 256 = 840

10



��� 30  ���  5
�	
��
� �	�� !�  r1 

ก�����ก��5  r1  M�	. ��  4  ก�1(
ก !����  1  (x, y) ∈ Q1
x ≥ y → x ≥ y

∴ y ≤ x

ก !����  2 (x, y) ∈ Q2

x ≥ y → − x ≥ y

∴ y ≤ − x

ก !����  3 (x, y) ∈ Q3

x ≥ y → − x ≥ − y

∴ y ≥ x

ก !����  4 (x, y) ∈ Q4

x ≥ y → x ≥ − y

∴ y ≥ − x

�+��,��-  3��ก�1(  ��
���0��8��'=ก  y = 0 , x ≥ y → x ≥ 0 x ∈ R

.8�����  (.ก�  x)  ��
�8��������)��ก��5  y = 0 r1

����	ก��5  r1

�	�� !�  r2 � �����	ก��5����3 /�����7� 

����������������������
����������������������
����������������������
����������������������

y

x

����������������������
����������������������
����������������������
����������������������
����������������������

y
x

�����������������������
�����������������������
�����������������������
�����������������������

y

x

����������������������
����������������������
����������������������
����������������������
����������������������

y
x

���������������������������
���������������������������
���������������������������
���������������������������
���������������������������
���������������������������

���������������������������
���������������������������
���������������������������
���������������������������
���������������������������
���������������������������

y

x

y = -x y = x

y

y = x  - 22

(0, -2)

x

11



�	�� !�  r 3��  r = r1 ∩ r2

��� ���
Dr = [−2,−1] ∪ [1, 2]

./� Rr = [−1, 2]

�+��,��-  �=����)��  y  =  x  ./�  ���  y = x2 − 2 (2, 2), (−1,−1)

3��  x = x2 − 2

0 = x2 − x − 2

  ∴0 = (x − 2)(x + 1) x = 2,−1

�����  ./�  x = 2 → y = 2 x = − 1 → y = − 1

./��=����  y  =  ./�  ���  −x y = x2 − 2 (−2, 2), (1,−1)

3��   =  −x x2 − 2

0  =  x2 + x − 2

0  =    ∴(x + 2)(x − 1) x = − 2, 1

�����  ./�  x = − 2 → y = 2 x = 1 → y = − 1

��� 31  ���  [2, e]
�	
��
� �	�� !�  RA 

��ก  '=ก  y = cos x → cos x ∈ [−1, 1] x ∈ R

∴ RA = [−1, 1]

�	�� !�  RB 
��ก  −1 ≤ sin x ≤ 1 → e−1 ≤ esin x ≤ e1

→ 1
e ≤ y ≤ e

∴ RB = 
1
e , e



�	�� !�  RC 
C  =  {(y, x) / x = y2 + 2}

=  {(x, y) / y = x2 + 2}

y

x

y = -x y = x

(-2, 2) (2, 2)

(-1, -1) (1, -1)

12



��	ก��5����3 /�����7�

∴ RC = [2,∞)

�����9� [RA ∪RB] ∩RC = [2, e]

��� 32  ���  48
�	
��
� ��ก   =  (goh)(x) 2x − 1

=  g(h(x)) 2x − 1

=  1

3
⋅ h(x) − 3 2x − 1

=  h(x) 6x + 6

∴ (hog)(30) = h(g(30)) = h(7) = 6 ⋅ 7 + 6 = 48

��� 33  ���  5028
�	
��
� (gof)(n) = g(f(n)) = f(n) + 2

=  (�UV��/��'(��ก0���กก����� �	��  4) + 2n2

����	���
gof(1) = 1 + 2 = 3

gof(2) = 0 + 2 = 2

gof(3) = 1 + 2 = 3

∴gof(4) = 0 + 2 = 2 gof(n) =




3 , n

2 , n

gof(5) = 1 + 2 = 3

.

..
.
..

2011

n= 1
Σ (gof)(n) = gof(1) + gof(2) + gof(3) + gof(4) + ... + gof(2011)

=
5

3 + 2 +
5

3 + 2 +..... + 3

= 5 × 2010

2
+ 3 = 5028

y

x
(0, 2)

��
��������(�
��
��������7�
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��� 34  ���  1
�	
��
� (fogoh)(x) = (fog)(h(x))

= (fog)(x3 + 2x2 + 2x)

= f(g(x3 + 2x2 + 2x))

= f( x3 + 2x2 + 2x )

= 1

x3 + 2x2 + 2x

��3����)��  fogoh
x3 + 2x2 + 2x > 0

x(x2 + 2x + 2) > 0

(x)((x + 1)2 + 1) > 0

x > 0 ⇒ Dfogoh = R+ = R+ − { }

∴ ./�  A = { } n(A) = 0

��� 35  ���  1
�	
��
� ��ก3�'�4  G0(x) = 1

1− x

./���ก  Gn(x) = G0(Gn− 1(x))

�����9� =  G1(x) G0(G0(x))

= G0


1

1− x



= 1

1− 1
1−x

= x− 1
x

./�  =G2(x) G0(G1(x))

= G0


x− 1
x




= 1

1− 

x−1
x




= x

./� =G3(x) G0(G2(x))

= G0(x) = 1

1− x

./� =G4(x) G0(G3(x))

= G0(G0(x))

= G1(x) = x− 1
x
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./���� ���

Gn(x) =










1

1− x , n
x− 1
x , n

x , n

�����9�  �����  2553  ����	��  3  /����G2553(x) = 1

1− x

./�  G2553(2553) = 1

−2552
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����	��  3  /���� 
����	��  3  ��/���UV  1
����	��  3  ��/���UV  2
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